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7.. What will happén‘ if a metal ball is put into the hot water as shown in the diagram below?

l. The heat energy in the water decreases.

- Hl. The temperature of the hot water decreases.

fll. The weight of the metal ball will decrease. : ,
IV.. The metal ball absorb some of the heat energy in the hot water.

A. land 1l only. - B. I, iand Ill only.
C. I, land IV only. D. 1, i and IV only.

/ Which of the followmg are the properties of the matter shovm abqve?

. lthasmass. II. It occupies space.
0. it has afixed volume. - "{V.1t has a fixed shape.
" A land It only. "~ B. I, liand IV only.

C. LH and IV only.. D. I, ii-and IV only.

The diagram above shows that the watar is heated unti it boils. What are peocesses P, Q and

R? : :
: P : Q = R
A oondensahon , vaporization - boiling
B. vaporisaion . ~ condensation: freezinh
C. melting vaporization - boiling ~
D. boiling ‘ - freezing - vaporisation

10.

The situation above may cause

l. afire breakout. - if. no eﬁects whatsoever.
- . the overheatmg of cables . IV. The overloading of a power source.

A. IV only. - B. 1, lland Il only.
C. Hand il only. ~ DL, rand IV only.

[ Lihat sebelah
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‘Section A
(30 marks)
) Answerall questlbns :

‘ 1 Whnch types of mn:roorgamsms are used to make yogurt and cheese?‘ L |
- A Yeast B. Bacteria :
C. Protozoa "~ D. Fungi

d Lay eggs

. Lay only a small number ofeggs - . -} T
'_ Take care of their young ' '

2 Which animals ensure the survival of thelr specias in the above ways’?

‘I Hem . I.  Lizard
1. Cryooodlley : IV. Grasshopper
A. 1and Il only | B. Il and Hi only

. -C.hllandlitonly . - D. L lLandIV only

3. A food chain in a habttat is shown in d;agram below.

Honey —» butterﬂy-——’ X——*snake

4. What type of energy change occurs when a ball i is kicked?
’ A. Kinetic energy ——_» potential nergy.
B. Potential energy —— Kkinetic energy.
C. Chemical energy —® potential energy.
D. Potential energy »  chemical energy.

5. Which methods can be used to save energy?
I. Using ceiling fans instead of air conditioners. s
1. Planting shade trees around the house.: "~

1. Using fluorescent lamps. :
IV. Keeping as many thmgs as ppsssble inside the refngerator

A landlony. - 'B. flandillonly.
' C.~IH and IVonIy. o D , il and I only.

6. Which of the following electncal sources produces the largest amount of electrical energy"
' A. drycell B. accumulator :
C. dynamo S D. hydroelectnc power statlon
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11. Which of the following statements are true?. -
I Aseries circuit can haveonlyone bulb, . .. :
- L. When the switch in a simple circuit is on, it is a complete circuit.
- W The components of a simple cicuit are a battery, a bulb and a switch.
IV. A paralel circuit has more than one path for the electric current to flow through.

A. 1and Il only. : B. 1and IV only.
. C. Hand it only. ~ D. trand IV only:

12.

hich. of the following statements are true about the ray-diagram above? -
L tis a diffuse reflection. ‘ he o '
Al.. - The surface is smooth and.flat.
. The rays are reflected in parallel rows. ,
. The image seen on the surface will not be clear.

A. land ll only. B. It and Ill only.
C. lland Wonly. - -D. tand IV only.

vinegar

L Substance X has a sour taste.

. Substance X turns red litmus paper biue.

. Substance Xiis an acid, substance Y is an alkali.

V.~ Substance Y does not change the colour of blue litmus paper.

A 1 1land i 6nly. S Bo andrlvfch)nly.
C. 1, Ii-and IV only. ~ - D. LI, and IV only.
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14.

What is the property of the substances above?
A Sour - - . B. Acidic )
C. Alkaline i D. Tasteless. -

15. The strength and stability of a structure depend on.... -

I. its height. ' I. its shape.
fll. its cost. V. Its base area.
A landlionly. B. Il and IV only.

C. i, Hand IV.only. DL Nand IV

What processes are involved in the above change of state of water?
' A. Evaporating and boiling. - B. Melting and evaporation.
C. Evaporation and freezing.  D. Meiting and eondensation.

17.- A student carries out an experiment as shown in the diagram below.

What is the best reason from the above experiment?
‘A Aircanfiow. -~ . - B. Airhasa fixed mass.
C. Air occupies spaOe.y D. Air can be compressed. -

18. The figure below shows the shadow of a tree.

At what time is the shadow formed?
A. 9.00 a.m B. 12.00 noon
C. 2.00p.m. -~ D. .6.00pm-

- - ew
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19. Which of the following .m‘odels is the strongest ?nd the most stable?

What effect will subsmnce P have‘on litmus. paper?
A. Bleaches red litmus paper.
 B. Bleaches blue litmus paper.
- C. " Change biue limus paper to red. .
D Change red litmus ‘paper to blue

21 The ﬁgureshowsa oonstellstion. Ancient people found'thts oonSteﬂation very useful. o

‘Who would ﬁnd the oonstellataon most helpful’?
: A. Asailor ‘ © 7B, Afarmer

~ C. Ateacher ; D-Asoldier

22 The earth rotates on |ts own axis and completes one roiataon every
A. 12 hours.. - B. 24 hours. :

~ C.30days. D. 365 days.
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- 23. The figure shows the positions of the Earth, the Moon and the Sun. . -

24, The figure shows four places A, B, C and D on the earth. At which place is it night time?

~ Directionofrotafion iy

. —>
Sunlight

————

What is the shape of object X?
A. Cone _ " .B. -Pyramid
C. Sphere -~ - D. Cupdid
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- 26. The figure shows two objeclsMand N that wére used in an ekperjment on stability. .

What is the manipulated variable? P o
A. The heightof Mand N. B. The base area of M-and N.
C. The weightof MandN.. ~.D. The materials used to make M and N.

Which of the following basic shapes are found in the model?

|. Sphere. . 1l. Pyramid
Mm.Cubod -~ - ™ Cylinder
AA.\AIV’and fionly - -~ o -B. 1l and il only.
~C. andIVonly o D. Ii, il and IV only

'How many food chains can be found in the food web?
A 2 B 3
c 4 D 5
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29 The diagram below shows an object and its shadow.

thch of the followmg shadows will form when the distance bctween the object
and light decreases? ,

A . - 3 B

30.. The diagram below shows the state of telephone wires at hoon.

. How do the telephone wires appear in the morning? - »
- A Becomes moresag - ; B Becomes tight _
- C Becomes thicker D Becomes darker in its oolour '
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SECTION B

_suuIT
| ~ Answers all questions.

: The s'uggested time for this section is 30 minutes. If you are unable to answer the
~question, proceed to the next question. '

" Write in a apace provided . o
1 the middle of the field under the sun. The length of

- 1. Agroup of pupils sfénd a pole | )
~ the shadow formed is measured and recorded throughout the day.

Table 1

: b). Give reasons for your answer in’f(éi. '

¢). Based on the investigation, state;

()  whattokeepthe same=__ B |

, (i)  what to change = ~ . -
iy’ whatto observe = ‘ ‘ | :
: ’ . [3 marks]

" d). Predict the length of the shadow at 3.00 p.m.

—_— ' — B o | | [1 mark]
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c). Name two he’rbiVo’rés in the food web

@ ——— ‘ | BN
d) Predict what will happen to thebopuiaﬁbh of chicken when the popﬁaﬁoﬁ e
- earthworm decreases , — < .
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3. A group of pupils carried out an invéstigfation. They tested different substances by
* using wet litmus paper. The table below shows the results of the investigation.

Observation o

| BlusTitmus paper_
| Tumsred | Does notchange colour |

_Does not change colour

Does not change colour
Does not ohange oolour Does not change colour

Table 2

a) Predict what substances Q and S.

[ mark]

b) ’G’ive an inference to support your anowér in (b)

. .

i ) - ; .

T fmaw
o)  Which substances feel smooth to the touch?
- [T mark]
(d) Give one example of oubstanoo R.

" [1 mark]

4, The picture shows on investigation that has been done by Adam. She uses paper
cubes with dimension of 2 cm x 2 cm each. The cubes are arrange as shown inthe

- picture below. - o

SULIT

018 = S v MGB B. PAHAT - SCIENCE - YEARS -




[image: image11.png]- SULIT . 13 : 018

o Adam blows of the arrangements. The time taken for the arrangement of cubes to
fall down is recorded as follows. 7 : S I

a). What is the aim of this investigation? |

i mark] -

\' b). What is the estimate time taken for three cubes to fall down? |

1 mankj
“¢). State- the changeé of tlme taken for ‘cm‘)e‘s to fall down.
“d). State what to keep the same. -

[Tmark]

€). State a relationship based on the above statement.

[1 mark]

END OF QUESTION PAPER




